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1 +FH AKX 2 KIRFBRATF 73 68 36 37 73 214
EH AIREF(KBRFHRAF) F2025FE /)Y = v 74 — 7V ~DHIBELZES
2 B BE 3 KIRFBRAF 75 71 36 33 69 215
2 R EKX 2 ABRF AT 74 71 32 38 70 215
4 BH E—8 2 RHERF 75 73 32 36 68 216
5 B WmE 2 ABRF AT 76 72 32 37 69 217
HE, BH BmEEFKRERFRAT) E THEATE T 7 RFEARAOHIGIEZES
6 TE X% 3 KBRF AT 74 72 38 34 72 218
7 MEm KAiE 2 KIRFBRAT 76 73 33 37 70 219
7 Etig 2 RHEKRF 73 70 36 40 76 219
9 Pl ORE 2 KIRFBRAT 75 76 35 34 69 220
10 55 ARE 2 RHEKRF 75 72 36 38 74 221
11 AH FEE 3 BEPE RS 79 72 34 38 72 223
11 INE AR 3 KBRF AT 72 78 37 36 73 223
13 E2H XA 2 BIPHBAL KRS 74 74 37 39 76 224
14 Hif A 2 KBRF AT 81 76 34 36 70 227
14 H+ BN 2 EE KT 73 76 39 39 78 227
16 RR RN 2 BIFE KT 78 82 32 36 68 228
16 EDLI PN 3 KRFBRAF 79 75 34 40 74 228
18 Bl SR 3 KBRF AT 75 77 42 35 77 229
19 =R EE 2 EfEL Ry 78 76 36 40 76 230
19 LA Bk 3 KFIAF 75 76 41 38 79 230
21 Hig  KHs 3 AR T 78 81 34 38 72 231
21 " BE 3 KBRF AT 75 82 36 38 74 231
21 K RA 4 i rea 77 77 36 41 77 231
24 E B 4 BT RF 81 77 37 37 74 232
24 AR R 4 B FBE RS 80 77 36 39 75 232
24 B R 3 RHKRF 79 74 37 42 79 232
24 RHE 18 2 KB AT 77 73 40 42 82 232
28 mk X8 2 BIFE AT 82 80 36 35 71 233
29 Gz K 2 g T 75 76 41 42 83 234
30 Ll 3 3 RHEKRF 77 83 38 37 75 235
30 Bk EL 2 BfEEIERY 80 79 36 40 76 235
30 ZH EiE 3 KFIAF 81 78 35 41 76 235
30 AF Kid 3 EEAL KT 79 76 39 41 80 235
34 Hl KB 3 KIRFBRARTF 77 84 38 38 76 237
34 2R ER 3 g T 80 80 38 39 77 237
36 PN 4 BAFRAY 79 84 38 37 75 238
37 =% 3 KIRF AT 80 82 38 39 77 239
38 g WA 4 KIRFBRAF 81 81 37 42 79 241
39 2T RE 2 FEELAT 86 81 35 40 75 242
39 WH EAE 2 KFHIRFE 83 78 38 43 81 242
41 NS 3 TBEF A F 87 80 38 38 76 243
41 TIE 1R 4 KIRFBRAF 81 79 43 40 83 243
43 Fih BE 2 BEFE RS 83 77 38 46 84 244
44 & KK 3 BEAKRY 82 84 37 43 80 246
44 A EE 3 KFHAFE 79 84 37 46 83 246
46 BHE % 2 RHRF 81 79 46 41 87 247
47 BE MK 4 RN 81 88 33 46 79 248
47 LA s 3 KFHIRZE 83 83 39 43 82 248
49 =% B 2 KFHIAF 85 84 40 43 83 252
50 ZRx =B 3 BEAKRY 91 76 42 44 86 253
50 ES IR PN 2 PR RS 77 86 46 44 90 253
52 & BEe 2 BEAKRY 87 82 41 48 89 258
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